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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the question paper.
Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 60/S/A/MM-A on the answer-book.

The question paper is bilingual. In case of doubt, the English version should be considered
as authentic.
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Nald®) MIBCGUEEBUY :

1

al01eodm0]  @RAINZ/@PAIBIONS GO0 MMIAB GaldBiGala]0lO0d SBIMIVOOD®  al)OOI0)

af) ) @1 BlBn6Mo.

€2103§Gala]0lO0] al0@BBOS af)sIPAI0, GaldB§Gala]0led MAVICIEeIN GaldBLERIS af)eRAle
00@loeMaM) ®182Je0|S)OMOIMOWVS]  GaldB§Gala|01O0d BaNJo alj0O af)Qalo D)GHSIG3
O30S)ONBIH)AN Vo6 YU alBIGUOIWIHN)B:. BH)SIOD GaldBL6BBUd VOBIWOIW (HACIILIOEEMI
af)M)o al@lGUDIW]HE)ds.

DOMOEBBU TNOENSITN af)PICMEMNEMIV G210663BS103, MEBBUW8 ML POMEEBBSIE3 MlaM)o
80) oMo Glonsms)cansnzmdsn’, @md (A), (B), (C) mregwlad (D). apars

(ale@idHo @AMITIHH)IMN DODOLHSLIONIG3 MEBBSBIOS (VCIVWOIW DTN COINAIS)OD)D.

DOMOo  MIVHEOMS}OOMYMOIMBB  G2l0BIMUWBOAOS a0 €aldBi@B8lo ®MMIGleeaM
MW2OIWIRITR 0210 ®) ®IBEENNBMOM. (AlC®Id MVAWAICIWIHWIMMIo DOMOO
G0HNTNS)HOD)MIMBSB  GaldBY6EBUHHIV 2oglaidenalsiglel.

DOMOHHSLIMIIGE  @1ClaolAUOMBS  GRSWIBEBU  DENBIHH)HEWI, MEIdGea|SlClen)an
MOLICMLNO® 20QallosSeO®1ejo GO MMUAQ o) PIMIHEVWI  HalW @M, GO
al016HIAMONS8)0S BRERINIOWOWV] (aler§0ailen @M SWIEN)o.

MEBBPS €21083Galaf0lom esos maud 60/S/A/MM-A gomosssenmim) anoom)

agf)9}®6Mo.

Gal0B3Galg@ B-oaHl®@eM. af)OMBIEo TVOUdWAETBIG)IN aldHo oWl alBl@dau
@LN0BMN20WT  alBlVEMEeHA|SIAMN@I6M.
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BUSINESS STUDIES
(enavlimay guawlav)

(215-MM)
Time : 3 Hours] [Maximum Marks : 100
oo : 3 2emlend] [a102001051 20368 : 100
Note : (1) Answer all the questions.

(2) Marks allotted for each question are indicated against it.
M®0la] : (1) agen @aldBi@BUWEN 0 DOMOHRL)®6eMo.
301a] o S ) )

(2) 0600 G213 OMIM)o @PMAIGILJISI88 203HH)HUW @P@IM) GMO®
6305 OM1G1H6)aM).

1 Which form of business organization can be formed with a minimum 1
of ten members having limited liability ?
(A) Partnership (B) Private Ltd. Company
(C) Public Ltd. Company (D) Co-operative Society
@069 ®AVIGIENAN  QILOaIdOAVOCLISMO  0)alBBSIG3  aFG@O6M)  &)O6IINO®)
10 @roneEBOS®)0 AIGlZlMR0®  NIOELYMVW)BSS ROV

@R oE1HHOMINMN® ?

(A) aimoglom  Qly0alooo (B) e6(aiaig eilaflgals  eaum]
(C) aeile; eilallgals  @miml (D) auaomoem  auocelsmEByd
2 Which one of the following types of warehouses is used to store imported 1

goods for which import duty is yet to be paid ?

(A) Public warehouses

(B) Government warehouses

(C) Bonded warehouses

(D) Co-operative warehouses

©@96%  aloWIMNAUDIT  AB@}@00  TVOBOMUDILIGB6M  MIVW)o  DOLH)AMI
al}®o @RSafISIeIC, a)INIT OHNAD] alT®) HFIEOm TVOWMEBBUBHHIV]
DalcWOUIlENMM®  ?

(A) oato®m) aMVOROEMUDOLIGUD

(B) audenod auoecoemuooelsud

(C) ceniosnzall  MVOEOEMUDLIGUB

(D) auaosoem  MuocEEMUDORIGUS
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3 Which is not an advantage of Rail transport ? 1
(A) It is relatively faster than road transport.
(B) It is suitable for carrying heavy goods in large quantities over long
distance.
(C) It is a flexible mode of transport.
(D) It is a convenient mode of transport for travelling long distances.
@®00¢  aloW)AMAIWVIG SOV O@IVOOWING ENMFALICM®  ?
(A) ool V@IN®OBIOM @RGAldHla] &SIV  BAUND.
(B) aenmio 800 &Sm0 ami®)ens)es 313221 3)0Wo(@HEs @RM)EWOIRYo.
(C) DFisEBINMaVEla] 0)alNa]S}OMOARAD NDIN®  @0BYo.
(D) #13cal B)0VI@HY AUBOO TVDGOL(IBA0Q  MBNAETIO.

4  Which of the following mode of transport is most suitable to transport 1
perishable commodities over a short distance ?
(A) Rail Transport (B) Road Transport
(C) Water Transport (D) Air Transport
®06¢  aloWIMAUWIGE  af)B)o]OHIGE  MUWlaJGaldHdH)aD  AVIWMEBBUBD6)

@PMICWIRI\NOW  (AOMVIBEODIMIW OOIND® MIBGYNo ® ?
) 2) ) 183 Do o

(A) 000l@d w®OVD®o (B) cooall woonmo
(C) mer v®on®mo (D) cayoa w®onw®o
5  Which of the following is NOT an example of Non-store retailing ? 1
(A) Mail order business (B) Tele-shopping
(C) Multiple shops (D) Internet shopping

@009  @a1alenama]ed  allGBa]®  CARIN)HWB  MLPOOWB8  allelo
H 2SO HBIAOVMALICN®  aB@I6M  ?
(A) eo00l@d aodwd enilavlnqy (B)  eseileauoailod)

(C) audglaflud GO ysu3 (D) oadomg Gaudaflod

6  ‘Shoppers’ Stop’, ‘Spencer’ and ‘Kid’s Kemp’ are some examples of : 1
(A) Super Bazar (B) Multiple Shops
(C) Factory Outlet (D) Departmental Store

GoH0Ga BT EIYIa], MVOIMBIVE, ST GHoal af)aBlAl @IOY al0WIINAIVIG

a)MMIM)B8  OBOAOOEMEBBBOEN)  ?

(A) a0 Id 20866Q)HHU3 (B) awdglafltd  Gaoasad
(C) anos501 @mgeeId (D) aulajodsenamda@d  cquod
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7 A document which contains the details of the transaction and the amount 1
to be received is known as :
(A) Quotation (B) Invoice
(C) Despatch Note (D) Letter of Advice
(H@AIl(HHWEBBUE MSOMGMUIUE DSaIISIHM &)Ola)83 QllaIEBS)o, LIBYAIGH6NS
O)&»OOs  allaloEBalo @RSEEIY  GOal  @ROIWe|S)ANO)

(A) eoseed (BdaeiAV) (B) eadcanwamd
(C) aladar0a] emog (D) oe1gd &0af @ROHSWINS
8  Sachin purchased a new car for ¥ 11 lakh and found its engine being 1

defective. Despite many complaints, the defect was not rectified. Suggest
him the appropriate authority to file his complaint under Consumer
Protection Act.

(A) District Forum (B) State Commission

(C) National Commission (D) High Court

qaflad 11 eiddo 0)al QAIOY)M 60) @O &0 QIEB)G:V)0 @GN af)delad
CHS)al0S)88®O0]T  aMQYILINGN)H®W)o  HalQ ®). alll  (aldQAIWDS0
aloo@oq|5i0qmenNo @Y  CHS)aldS)HUW  alGla0GleeaSIel  DalGRISMY
DaCOM  @RSITLOOMEBIT  @RGZa00  oB®  GRWIHHOGCIBHEM  aldOG)
madaflesneme  ?

(A) =ep Ganooo (B) avomunom  &omlanad
(C) ceBwlw e:oleum (D) e6aocmosml
9 Consumerism is a movement started by : 1
(A) Government (B) Consumers
(C) Producers (D) Society
alBRISMQUGIBNO06MO  af)MM  (alTLOOIMO @RYDoEl2 D @YDV  ?
(A) vawenag (B) 9alccosmo00U3
(C) mdamomonenud (D) aveyaoo
10 Self employment means : 1

(A) Serving another person for wages or salary

(B) Completing a technical course

(C) Engaging in an economic activity and managing it on his own

(D) Working as an employee

MIWo ODISIBI  af)aOMOT  af)a®  ?

(A) 26Qo0) AYE@®IOW &EleHnd CUMMOBIEMO  GIVANGE) .

(B) avocm:@le aldluoleimo emMSlows)He)d:.

(C) 80y MOMIODIH (alyEDIVIG oBdOalS @@ ALV HOGEO0I0I0
©21Q) .

(D) omoslengloow] emoell o).
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11 In employment, there are certain terms and conditions. Enumerate them. 3
80) 0olellad adlel  MlITWMSB)o  AIAUTLAGSB)o  MIRIMIGIHH)AM6ENE.
2GS H) B>

12 Niranjan is running his business in a traditional way. He wants to switch 3
over to E-commerce. Explain him any three advantages of E-commerce.
MWETRM @RCGOOWING QIJ0aI00 aloMICON® OlXIV1LEm MSTIAIE)ING).
@REZaOOMIN)  @®HF  QIY0aI00  M-CHIEASAY  O1GIWOLIOSHIWOLIENZIH:) A
aBoO®&sleno 3 !IMEEBUWB  af)9)®)d:.

13 Give any three differences between banks and money lenders. 3
MNIOEH)HBJ0  aleMAISaloS)®»00)0 ©®aleNs8s ogeo®sslene 3 ay®OaVEEBU3

ag) Q@) H>.

14 A business person is to employ some sales persons to promote sales. 3
What qualities should these persons possess ? Explain any three such
qualities.
B0} ®ajAUSHN0OM @O Allelal®  ¢aldErIadlaflenaM@IMmoX]  ailel
aflalemMmMo MSOMAN @RB)HOS @YAUUDIAEE. QflaleMMo  MSOMIAN
QU E®]H0306)6NB0WIGIeEneMR 3 1}eMEEBUE  AiluoBRE)H:.

15 Briefly explain the role of businessmen and Government to ensure 3
effective consumer protection.
DalBBISMY MVOOHUMODIMOWT  AIJ0aI0Bl:B)o  MABMGlo MIBAOleHnMs
HBOMAILEEBUE  AlQIGH) .

16 State any four advantages of ‘Joint Stock Companies’. 4
GROVIF  CIYOHS BHMUIMIHBOS 4 V}EMEBBUD  af) L)) .

17 A factory owner gets her stock of goods insured, but she hides the fact 4
that the ‘Electricity Board’ has issued her a ‘Warning letter’ to get wiring
of her factory changed. Later on, the factory catches fire due to short circuit.
Can she claim compensation ? Give the name of the principle involved in
support of your answer and also explain the principle.
B0) aNdHSOl 9SA MOM aNdHSOlVIOal MVOWMEBUE (GIRIB: Blal WIWIY)
DM@ ©210@). af)MMOG MelH(SIAVIgl @mMIdW, andd:soldleal aIdlod)
20Q0mMo1 M@HI 2aNSlDla] @RAIB A0afalaf). allMIS andHSOl GauddS
MABYS Melo HOVIMUWla)). OSABE MaHSo MBHOMOMOIV]  DWaHMOMBTD
HMIMO®  AV2lailenocnd ? MEB8OS DOMOHDEM  TVLIWHGIHHN)AN Yo
aB@06 ? @) OOIOOD &)0la] Qllvorle:0lee)b:.
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18 Explain granting of (a) Loans and (b) Advances as functions of Commercial 4
Banks.

QI0MIRY  NIBHB)OS WAMEBB0W  (a) ADaldB  @MaIEleseno (b)
MIGHHIEBUS  qUle:dleneno  allaicles)s:.

19 Explain any four functions of wholesalers. 4

RO B 2 QUSROS 4 WAMEEBWB  AilAIC]E)H>.

20 Explain the following methods of sale : 4
(i) Hire Purchase Basis
(i1)) Sale on Approval Basis
@099 alo)am alldBa|m OB  Ailuodld0lH0)d.
(i)  a0Badeayay all@daim olo)

(i1)  emoaWwle alledajm

21 Define sole proprietorship. Briefly explain any three characteristics of 5
sole proprietorship.

af)@000) QIY0alo0o MIAQYallEnd. @P@IOM 3 VAN HUWB  QllAIG]Ee) .

22  Give any two examples of Multinational Companies. State any four 5
advantages of Multinational Companies.
NIa0)O0H(S HMUMIBHWBHD 2 DBIOVMEBBUS af) )@, @GO 4 1)eMeaBud
) ) @) b

23  Write the names of types of communication. Explain any two barriers to 5
effective communication.

aflailw @oowmlenss AEOMOAlMIA®  EIVAIMEEBUWE ABO@LIOAM)  af)$)O)d:.
andomailrlaomlmss agoosslene 2 @squEBd  alaiclen)d.

24 Non-Government Organizations have undertaken various activities as 5
part of the consumer movement. Mention any five functions performed
by them.

DalGRISMOIBHB)NS @ITIalOY@BBUE  TLoOHHUIHN MM  AVAEHIBO® O
MVOCRISMBG U alfl (alAIGEMMEBBSBlo MSOMAN). @RAIA §2IQ)AD aFGOMB;1eN0
5 wAeEBBUWB  ag)9)®)d>.
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26

27

28

29

30
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Explain any five possible areas of self-employment.

MUIWo OMISIB3 AVOWIMOV 5 GEAILIGUWE QllUOBRIBN)E:.

State any four responsibilities of an owner towards business.

QIY0aI0OEMIM  OSATLAGOIS)BS  HBOMAILEBBUWE  QlUOBROH)B:.

Warehousing is a very important auxiliary to trade. Justify its need by
giving any four reasons.

MoBOEMoO  QAMMIRIEMIM  AUSHOVWIEHo AVAOIVWGHAIW  B0)  CLISER6M.
@@IOW  @RYAUNIH® oBOOBIEN0 4 H00EMEEBUWS TMVaCI®O  QILBORDIHE) .

Give any four differences between wholesalers and retailers.

OROCN > 2|AISH600)0 211810 2|AISH600)0 @eKilensss 4 Qi@ OIVEBUS af))@)d:.

b

State any three rights of consumers as recognized by ‘Consumer Protection Act’.

DalGBIAMY TVoOHUEM MIVA0 DalBRISMOQNM  @PMAIGIE)MM  aFomesleno
3 @RQIBONEBBU  af)PIO)H>.

Describe any four qualities of a successful entrepreneur.

80) Mal QI0al00 TMVoCoBUBM) REMBOWIBIeHnME 4 1)eMEEBUS AlluB1H:G1H6)d:.

(=]



